

**STRONG CONVERGENCE THEOREMS FOR UNIFORMLY EQUI-CONTINUOUS AND ASYMPTOTICALLY QUASI-NONEXPANSIVE MAPPINGS**

By

**Gurucharan Singh Saluja**

Department of Mathematics and Information Technology

Government Nagarjuna Postgraduate College of Science, Raipur, Chhatishgarh,  
India

E-Mail : saluja\_1963@rediffmail.com, saluja1963@gmail.com

(Received : March 10, 2011; Revised : February 5, 2012)

**ABSTRACT**

The purpose of this paper is prove some strong convergence theorems of the modified Ishikawa iterative sequences with errors for uniformly equi-continuous and asymptotically quasi-nonexpansive mapping in the setup of uniformly convex Banach spaces by using condition (A) instead of completely continuous or demicompact condition. Our results improve and generalize the corresponding results of Rhoades [6], Schu [7,8]. Tan and Xu [10,11] Xu and Noor [12] and many others.

**2000 Mathematics Subject Classification :** 47H09, 47H10, 47J25.

**Keywords:** Asymptotically nonexpansive and Asymptotically quasi nonexpansive mappings, Fixed points, The modified Ishikawa iterative sequence with errors, Strong convergence, Uniformly convex Banach space, Uniformly equi-continuous mapping, Uniformly Holder continuous mapping.

**1. Introduction and Preliminaries.** Let  $E$  be a real normed linear space,  $K$  be a nonempty subset of  $E$ . Throughout the paper,  $N$  denotes the set of positive integers and  $F(T) = \{x: Tx = x\}$  the set of fixed points of a mapping  $T$ . Let  $T: K \rightarrow K$  be a given mapping.

(1)  $T$  is said to be asymptotically nonexpansive [2] if there exists a sequence

$\{k_n\} \subset [1, \infty)$  with  $\lim_{n \rightarrow \infty} k_n = 1$  such that

$$\|T^n x - T^n y\| \leq k_n \|x - y\|, \quad (1.1)$$

for all  $x, y \in K$  and  $n \in N$ .

(2)  $T$  is said to be asymptotically quasi-nonexpansive if  $F(T) \neq \emptyset$  and there

exists a sequence  $\{k_n\}$  in  $[1, \infty)$  with  $\lim_{n \rightarrow \infty} k_n = 1$  such that

$$\|T^n x - p\| \leq k_n \|x - p\|, \quad (1.2)$$

for all  $x \in K, p \in F(T)$  and  $n \in N$ .

(3)  $T$  is said to be uniformly  $L$ -Lipschitzian if there exists a positive constant  $L$  such that

$$\|T^n x - T^n y\| \leq L \|x - y\|, \quad (1.3)$$

for all  $x, y \in K$  and  $n \in N$ .

(4)  $T$  is said to be uniformly Holder continuous [5] if there exist positive constants  $L$  and  $\alpha$  such that

$$\|T^n x - T^n y\| \leq L \|x - y\|^\alpha, \quad (1.4)$$

for all  $x, y \in K$  and  $n \in N$ .

(5)  $T$  is said to be uniformly equi-continuous [5] if, for any  $\epsilon > 0$ , there exists  $\delta > 0$  such that

$$\|T^n x - T^n y\| \leq \epsilon \quad (1.5)$$

whenever  $\|x - y\| < \delta$  for all  $x, y \in K$  and  $n \geq 1$  or, equivalently,  $T$  is uniformly equi-continuous if and only if  $\|T^n x_n - T^n y_n\| \rightarrow 0$  whenever  $\|x_n - y_n\| \rightarrow 0$  as  $n \rightarrow \infty$ .

**Remark 1.1** (i) It is easy to see that, if  $T$  is asymptotically nonexpansive, then it is uniformly  $L$ -Lipschitzian.

(ii) If  $T$  is uniformly  $L$ -Lipschitzian, then it is uniformly Holder continuous with constants  $L > 0$  and  $\alpha = 1$ .

(iii) If  $T$  is uniformly Holder continuous, then it is uniformly equi-continuous.

This class of asymptotically nonexpansive mappings was introduced by Goebel and Kirk [2] in 1972. They proved that, if  $K$  is a nonempty bounded asymptotically nonexpansive self-mapping of  $K$  has a fixed point. Moreover the set  $F(T)$  of fixed points of  $T$  is closed and convex. Since 1972, many authors have studied weak and strong convergence problem of the Mann and Ishikawa iterative sequences (with errors) for asymptotically nonexpansive mappings in Hilbert spaces and Banach spaces (see [2,6,7,8,10,11,12] and references therein).

Recently, Liu [3] studied modified Ishikawa iterative sequences with errors for asymptotically quasi-nonexpansive and uniformly Holder continuous mappings in uniformly convex Banach spaces and established some strong convergence theorems which extended some corresponding results of Tan and Xu [11].

The purpose of this paper is to extend and improve some results of [3] for

uniformly equi-continuous and asymptotically quasi-nonexpansive mappings. Also our results improve and generalize the corresponding results of [6,7,8,11,12,] and many others.

In order to prove the main results in this paper, we need the following lemmas :

**Lemma 1.1.** (Tan and Xu [10]). Let  $\{\alpha_n\}_{n=1}^{\infty}$ ,  $\{\beta_n\}_{n=1}^{\infty}$  and  $\{r_n\}_{n=1}^{\infty}$  be sequences of nonnegative numbers satisfying the inequality

$$\alpha_{n+1} \leq (1 + \beta_n)\alpha_n + r_n, \forall_n \geq 1.$$

If  $\sum_{n=1}^{\infty} \beta_n < \infty$  and  $\sum_{n=1}^{\infty} r_n < \infty$ , then  $\lim_{n \rightarrow \infty} \alpha_n$  exists. In particular,  $\{\alpha_n\}_{n=1}^{\infty}$  has a

subsequence which converges to zero, then  $\lim_{n \rightarrow \infty} \alpha_n = 0$ .

**Lemma 1.2.** ([1]) Let  $X$  be a uniformly convex Banach space and  $B_r(0)$  be a closed ball of  $X$ , Then there exists a continuous increasing convex function  $g : [0, \infty) \rightarrow [0, \infty)$  with  $g(0) = 0$  such that

$$\|\lambda x + \mu y + \gamma z\|^2 \leq \lambda \|x\|^2 + \mu \|y\|^2 + \gamma \|z\|^2 - \lambda \mu g(\|x - y\|)$$

for all  $x, y \in B_r(0)$  and  $\lambda, \mu, \gamma \in [0, 1]$  with  $\lambda + \mu + \gamma = 1$ .

**2. Main Results.** Now, we give the main results of this paper.

**Lemma 2.1.** Let  $E$  be a normed linear space and  $K$  be a nonempty convex subset of  $E$ . Let  $T:K \rightarrow K$  be an asymptotically quasi-nonexpansive mapping with  $F(T) \neq \emptyset$ .

and a sequence  $\{k_n\} \subset [1, \infty)$  with  $\lim_{n \rightarrow \infty} k_n = 1$  and  $\sum_{n=1}^{\infty} (k_n^2 - 1) < \infty$ . Let  $\{x_n\}$  be a sequence in  $K$  defined by

$$y_n = a'_n x_n + b'_n T^n x_n + c'_n v_n,$$

$$x_{n+1} = a_n x_n + b_n T^n y_n + c_n u_n, \quad n \geq 1, \quad (2.1)$$

where  $\{u_n\}, \{v_n\}$  are bounded sequences in  $E$  and  $\{\alpha_n\}, \{\beta_n\}, \{c_n\}, \{a'_n\}, \{b'_n\}, \{c'_n\}$  are sequences in  $[0, 1]$  and  $a_n + b_n + c_n = a'_n + b'_n + c'_n = 1$  with the restrictions

$\sum_{n=1}^{\infty} c_n < \infty$  and  $\sum_{n=1}^{\infty} b_n c'_n < \infty$ . Then we have the following:

(i)  $\lim_{n \rightarrow \infty} \|x_n - p\|$  exists for any  $p \in F(T)$ ,

(ii)  $\lim_{n \rightarrow \infty} d(x_n, F(T))$  exists, where  $d(x, F(T))$  denotes the distance from  $x$  to the set  $F(T)$ .

**Proof of (i).** Let  $p \in F(T)$ . Since  $\{u_n\}$  and  $\{v_n\}$  are bounded sequences in  $K$ . So we can set

$$M = \max \left\{ \sup_{n \geq 1} \|u_n - p\|, \sup_{n \geq 1} \|v_n - p\| \right\}.$$

Then it follows from (2.1) that

$$\begin{aligned} \|y_n - p\| &= \|a'_n x_n + b'_n T^n x_n + c'_n v_n - p\| \\ &= \|a'_n (x_n - p) + b'_n (T^n x_n - p) + c'_n (v_n - p)\| \\ &\leq a'_n \|x_n - p\| + b'_n \|T^n x_n - p\| + c'_n \|v_n - p\| \\ &\leq a'_n \|x_n - p\| + b'_n k_n \|x_n - p\| + c'_n \|v_n - p\| \\ &\leq [a'_n + b'_n] k_n \|x_n - p\| + c'_n \|v_n - p\| \\ &= [1 - c'_n] k_n \|x_n - p\| + c'_n \|v_n - p\| \\ &\leq k_n \|x_n - p\| + c'_n M. \end{aligned} \tag{2.2}$$

Again from (2.1) and (2.2), we have

$$\begin{aligned} \|x_{n+1} - p\| &= \|a_n x_n + b_n T^n y_n + c_n u_n - p\| \\ &= \|a_n (x_n - p) + b_n (T^n y_n - p) + c_n (u_n - p)\| \\ &\leq a_n \|x_n - p\| + b_n \|T^n y_n - p\| + c_n \|u_n - p\| \\ &\leq a_n \|x_n - p\| + b_n k_n \|y_n - p\| + c_n \|u_n - p\| \\ &\leq a_n \|x_n - p\| + b_n k_n [k_n \|x_n - p\| + c'_n M] + c_n \|u_n - p\| \\ &\leq [a_n + b_n] k_n^2 \|x_n - p\| + b_n k_n c'_n M + c_n M \\ &= [1 - c_n] k_n^2 \|x_n - p\| + b_n k_n c'_n M + c_n M \\ &\leq k_n^2 \|x_n - p\| + b_n k_n c'_n M + c_n M \\ &\leq [1 + (k_n^2 - 1)] \|x_n - p\| + (b_n c'_n k_n + c_n) M \end{aligned} \tag{2.3}$$

since  $\sum_{n=1}^{\infty} (k_n^2 - 1) < \infty$ ,  $\sum_{n=1}^{\infty} c_n < \infty$  and  $\sum_{n=1}^{\infty} b_n c'_n < \infty$ , it follows from Lemma 1.1, we know that  $\lim_{n \rightarrow \infty} \|x_n - p\|$  exists. This completes the proof of part (i).

**Proof of (ii)** From conclusion of part (i), we have

$$\|x_{n+1} - p\| \leq [1 + (k_n^2 - 1)]\|x_n - p\| + (b_n c'_n k_n + c_n)M.$$

This gives that

$$d(x_{n+1}, F(T)) \leq [1 + (k_n^2 - 1)]d(x_n, F(T)) + (b_n c'_n k_n + c_n)M.$$

Since  $\sum_{n=1}^{\infty} (k_n^2 - 1) < \infty$ ,  $\sum_{n=1}^{\infty} c_n < \infty$  and  $\sum_{n=1}^{\infty} b_n c'_n < \infty$ , it follows from Lemma 1.1,

we know that  $\lim_{n \rightarrow \infty} d(x_n, F(T))$  exists. This completes the proof of part (ii).

**Theorem 2.1.** Let  $E$  be a uniformly convex Banach space,  $K$  be a nonempty convex subset of  $E$  and  $T:K \rightarrow K$  be a uniformly equi-continuous and asymptotically quasi-nonexpansive mapping with  $F(T) \neq \emptyset$  and a sequence  $\{k_n\} \subset [1, \infty)$  with  $\lim_{n \rightarrow \infty} k_n = 1$

and  $\sum_{n=1}^{\infty} (k_n^2 - 1) < \infty$ . Let  $\{x_n\}$  be a sequence in  $K$  defined by (2.1) with the following restrictions:

- (i)  $0 \leq b_n \leq b < 1$  and  $b_{n+1} \leq b_n$  for all  $n \geq 1$ .
- (ii)  $\sum_{n=1}^{\infty} b_n = \infty$ , (iii)  $\lim_{n \rightarrow \infty} b'_n = 0$ , (iv)  $\sum_{n=1}^{\infty} c_n = \infty$  and  $\sum_{n=1}^{\infty} b_n c'_n < \infty$ .

Then  $\liminf_{n \rightarrow \infty} \|x_n - Tx_n\| = 0$ .

**Proof.** Since  $T:K \rightarrow K$  is asymptotically quasi-nonexpansive, we have

$$\|T^n y_n - p\| \leq k_n \|y_n - p\| \leq k_n^2 \|x_n - p\|$$

for any  $p \in F(T)$ . By Lemma 2.1(i), we know that  $\lim_{n \rightarrow \infty} \|x_n - p\|$  exists. Hence  $\{x_n - p\}$  and  $\{T^n y_n - p\}$  are bounded sequences in  $E$ . Set  $r_1 = \sup\{\|x_n - p\| : n \geq 1\}$ ,  $r_2 = \sup\{\|T^n y_n - p\| : n \geq 1\}$ ,  $r_3 = \sup\{\|u_n - p\| : n \geq 1\}$ ,  $r_4 = \sup\{\|v_n - p\| : n \geq 1\}$  and  $r = \max\{r_i : i = 1, 2, 3, 4\}$  for any fixed  $p \in F(T)$ . Then we have  $\{x_n - p\}, \{T^n y_n - p\}, \{u_n - p\}, \{v_n - p\} \in B_r(0)$  for all  $n \geq 1$ . By using Lemma 1.2 and (2.1), we have

$$\begin{aligned} \|y_n - p\|^2 &= \|\alpha'_n(x_n - p) + b'_n(T^n x_n - p) + c'_n(v_n - p)\|^2 \\ &\leq \alpha'_n \|x_n - p\|^2 + b'_n \|T^n x_n - p\|^2 + c'_n \|v_n - p\|^2 - \alpha'_n b'_n g(\|x_n - T^n x_n\|) \\ &\leq \alpha'_n \|x_n - p\|^2 + b'_n k_n^2 \|x_n - p\|^2 + c'_n r^2 \end{aligned}$$

$$\begin{aligned}
&\leq [a'_n + b'_n] k_n^2 \|x_n - p\|^2 + c'_n r^2 \\
&= [1 - c'_n] k_n^2 \|x_n - p\|^2 + c'_n r^2 \\
&\leq k_n^2 \|x_n - p\|^2 + c'_n r^2.
\end{aligned} \tag{2.4}$$

Again, using Lemma 1.2, (2.1) and (2.4) we obtain

$$\begin{aligned}
\|x_{n+1} - p\|^2 &= \|a_n(x_n - p) + b_n(T^n x_n - p) + c_n(u_n - p)\|^2 \\
&\leq a_n \|x_n - p\|^2 + b_n \|T^n y_n - p\|^2 + c_n \|u_n - p\|^2 - a_n b_n g(\|x_n - T^n y_n\|) \\
&\leq a_n \|x_n - p\|^2 + b_n k_n^2 \|y_n - p\|^2 + c_n \|u_n - p\|^2 - a_n b_n g(\|x_n - T^n y_n\|) \\
&\leq a_n \|x_n - p\|^2 + b_n k_n^2 [k_n^2 \|x_n - p\|^2 + c'_n r^2] + c_n r^2 - a_n b_n g(\|x_n - T^n y_n\|) \\
&\leq [a_n + b_n] k_n^4 \|x_n - p\|^2 + b_n c'_n k_n^2 r^2 + c_n r^2 - a_n b_n g(\|x_n - T^n y_n\|) \\
&= [1 - c_n] k_n^4 \|x_n - p\|^2 + b_n c'_n k_n^2 r^2 + c_n r^2 - a_n b_n g(\|x_n - T^n y_n\|) \\
&\leq k_n^4 \|x_n - p\|^2 + (b_n c'_n k_n^2 + c_n) r^2 - a_n b_n g(\|x_n - T^n y_n\|) \\
&\leq [1 + (k_n^4 - 1)] \|x_n - p\|^2 + (b_n c'_n k_n^2 + c_n) r^2 - a_n b_n g(\|x_n - T^n y_n\|).
\end{aligned} \tag{2.5}$$

Note that  $\sum_{n=1}^{\infty} (k_n^2 - 1) < \infty$  is equivalent  $\sum_{n=1}^{\infty} (k_n^4 - 1) < \infty$  and so, setting  $\rho_n = r^2 (k_n^4 - 1)$ , then  $\sum_{n=1}^{\infty} \rho_n < \infty$ . Furthermore, since  $g: [0, \infty) \rightarrow [0, \infty)$  is a continuous increasing convex function and  $\{x_n - T^n y_n\}$  is a bounded sequence in  $E$ , we assert that  $g(\|x_n - T^n y_n\|)$  is bounded. Set  $\sigma_n = c_n g(\|x_n - T^n y_n\|)$ , we have  $\sum_{n=1}^{\infty} \sigma_n < \infty$ . Since  $\{k_n\}$  is bounded, and by hypothesis  $\sum_{n=1}^{\infty} b_n c'_n < \infty$  so  $\sum_{n=1}^{\infty} b_n c'_n k_n^2 < \infty$ . Now, set

$$\delta_n = \rho_n + \sigma_n + (b_n c'_n k_n^2 + c_n) r^2.$$

Then  $\sum_{n=1}^{\infty} \delta_n < \infty$ . By the assumption (i), we have  $(1 - b_n) \geq (1 - b)$ . It follows from (2.5) that

$$\|x_{n+1} - p\|^2 \leq \|x_n - p\|^2 - (1 - b_n - c_n) b_n g(\|x_n - T^n y_n\|) + \rho_n (b_n c'_n k_n^2 + c_n) r^2$$

$$\begin{aligned}
&\leq \|x_n - p\|^2 - (1 - b_n)b_n g(\|x_n - T^n y_n\|) + \rho_n + \sigma_n + (b_n c'_n k_n^2 + c_n)r^2 \\
&\leq \|x_n - p\|^2 - (1 - b_n)b_n g(\|x_n - T^n y_n\|) + \delta_n
\end{aligned} \tag{2.6}$$

which leads to

$$(1 - b)b_n g(\|x_n - T^n y_n\|) \leq \|x_n - p\|^2 - \|x_{n+1} - p\|^2 + \delta_n, \tag{2.7}$$

and

$$(1 - b)b_{n+1} g(\|x_{n+1} - T^{n+1} y_{n+1}\|) \leq \|x_{n+1} - p\|^2 - \|x_{n+2} - p\|^2 + \delta_{n+1}, \text{ for all } n \geq 1. \tag{2.8}$$

Adding on both sides of (2.7) and (2.8) and using the condition  $b_{n+1} \leq b_n$  for all  $n \geq 1$ , we have

$$(1 - b) \sum_{n=1}^{\infty} b_{n+1} \left[ g(\|x_{n+1} - T^{n+1} y_{n+1}\|) + g(\|x_n - T^n y_n\|) \right] < \infty. \tag{2.9}$$

Since  $\sum_{n=1}^{\infty} b_n = \infty$  by the assumption (ii), we have

$$\liminf_{n \rightarrow \infty} \left[ g(\|x_{n+1} - T^{n+1} y_{n+1}\|) + g(\|x_n - T^n y_n\|) \right] = 0. \tag{2.10}$$

By virtue of the continuity and monotonicity of function  $g$ , we assert that there exists a subsequence  $\{x_{n_j}\}$  of  $\{x_n\}$  such that

$$\|x_{n_j} - T^{n_j} y_{n_j}\| \rightarrow 0, \|x_{n_{j+1}} - T^{n_{j+1}} y_{n_{j+1}}\| \rightarrow 0 \text{ as } j \rightarrow \infty. \tag{2.11}$$

By the assumption (iii), we see that

$$\|y_n - x_n\| \leq b'_n \|x_n - T^n x_n\| + c'_n \|v_n - x_n\| \rightarrow 0, \text{ as } n \rightarrow \infty. \tag{2.12}$$

It follows from the uniform equi-continuity of  $T$  that

$$\|T^n y_n - T^n x_n\| \rightarrow 0 \text{ as } n \rightarrow \infty. \tag{2.13}$$

Now we observe that

$$\|x_n - T^n x_n\| \leq \|x_n - T^n y_n\| + \|T^n y_n - T^n x_n\|. \tag{2.14}$$

It follows from (2.11) and (2.13) that

$$\|x_{n_j} - T^{n_j} x_{n_j}\| \rightarrow 0 \text{ and } \|x_{n_{j+1}} - T^{n_{j+1}} x_{n_{j+1}}\| \rightarrow 0, \text{ as } j \rightarrow \infty.$$

Since  $\|T^{n_j} x_{n_j} - x_{n_j}\| \rightarrow 0$  as  $j \rightarrow \infty$ , we have

$$\|x_{n_{j+1}} - x_{n_j}\| \leq b_{n_j} \|T^{n_j} y_{n_j} - x_{n_j}\| + c_{n_j} \|u_{n_j} - x_{n_j}\| \rightarrow 0 \text{ as } j \rightarrow \infty. \tag{2.15}$$

It follows from the uniform equi-continuity of  $T$  that

$$\|T^{n_j} x_{n_{j+1}} - x_{n_j}\| \rightarrow 0 \text{ as } j \rightarrow \infty. \quad (2.16)$$

Again, from above inequalities, we observe that

$$\begin{aligned} \|T^{n_j} x_{n_{j+1}} - x_{n_{j+1}}\| &\leq \|T^{n_j} x_{n_{j+1}} - T^{n_j} x_{n_j}\| + \|T^{n_j} x_{n_j} - x_{n_{j+1}}\| \\ &\leq \|T^{n_j} x_{n_{j+1}} - T^{n_j} x_{n_j}\| + \|T^{n_j} x_{n_j} - x_{n_j}\| + \|x_{n_j} - x_{n_{j+1}}\| \rightarrow 0 \text{ as } j \rightarrow \infty. \end{aligned} \quad (2.17)$$

It follows from the uniform equi-continuity of  $T$  that

$$\|T^{n_{j+1}} x_{n_{j+1}} - Tx_{n_{j+1}}\| \rightarrow 0 \text{ as } j \rightarrow \infty, \quad (2.18)$$

and

$$\|x_{n_{j+1}} - Tx_{n_{j+1}}\| \leq \|x_{n_{j+1}} - T^{n_{j+1}} x_{n_{j+1}}\| + \|T^{n_{j+1}} x_{n_{j+1}} - Tx_{n_{j+1}}\|. \quad (2.19)$$

Therefore, it follows from (2.17), (2.18) and the above inequality that

$$\|x_{n_{j+1}} - Tx_{n_{j+1}}\| \rightarrow 0 \text{ as } j \rightarrow \infty. \quad (2.20)$$

This completes the proof.

Let  $\{z_n\}$  be a given sequence in  $K$ . Recall that a mapping  $T:K \rightarrow K$  with  $F(T) \neq \emptyset$  is said to satisfy *condition (A)* [9] if there exists a nondecreasing function with  $f:[0,\infty) \rightarrow [0,\infty)$  with  $f(0)=0$ ,  $f(r)>0$  for all  $r \in (0,\infty)$  such that

$$\|z_n - Tz_n\| \geq f(d(z_n, F(T))) \text{ for all } n \geq 1,$$

where  $d(z_n, F(T)) = \inf \{\|z_n - p\| : p \in F(T)\}$ .

By using Theorem 2.1, we have the following :

**Theorem 2.2.** Let  $E$  be a uniformly convex Banach space,  $K$  be a nonempty convex subset of  $E$  and  $T:K \rightarrow K$  be a uniformly equi-continuous and asymptotically quasi-nonexpansive mapping with  $F(T) \neq \emptyset$  and a sequence  $\{k_n\} \subset [1,\infty)$  with  $\lim_{n \rightarrow \infty} k_n = 1$  and  $\sum_{n=1}^{\infty} (k_n^2 - 1) < \infty$ . Let  $\{x_n\}$  be a sequence in  $K$  defined by (2.1) with the following restrictions:

- (i)  $0 \leq b_n \leq b < 1$  and  $b_{n+1} \leq b_n$  for all  $n \geq 1$ ,
- (ii)  $\sum_{n=1}^{\infty} b_n = \infty$ , (iii)  $\lim_{n \rightarrow \infty} b'_n = 0$ , (iv)  $\sum_{n=1}^{\infty} c_n = \infty$  and  $\sum_{n=1}^{\infty} b_n c'_n < \infty$ .

If  $T$  satisfies *condition (A)*, then the sequence  $\{x_n\}$  converges strongly to a fixed point of  $T$ .



**Proof.** It follows from Theorem 2.1 that

$$\liminf_{n \rightarrow \infty} \|x_n - Tx_n\| = 0.$$

Since  $T$  satisfies condition (A), we have

$$\liminf_{n \rightarrow \infty} f(d(x_n, FT)) = 0.$$

From the property of  $f$ , it follows that

$$\liminf_{n \rightarrow \infty} d(x_n, F(T)) = 0.$$

It follows from Lemma 2.1 that  $d(x_n, F(T)) \rightarrow 0$  as  $n \rightarrow \infty$ . Now, we can take an infinite subsequence  $\{x_{n_j}\}$  of  $\{x_n\}$  and a sequence  $\{p_j\} \subset F(T)$  such that

$$\|x_{n_j} - p_j\| \leq 2^{-j}. \text{ Set } M = \exp\left\{\sum_{n=1}^{\infty} (k_n^2 - 1)\right\} \text{ and write } n_j + 1 = n_{j+l} \text{ for some } l \geq 1.$$

Then we have

$$\begin{aligned} \|x_{n_{j+1}} - p_j\| &= \|x_{n_j+l} - p_j\| \\ &\leq k_{n_j+l-1}^2 \|x_{n_j+l-1} - p_j\| \\ &\leq \left[1 + (k_{n_j+l-1}^2 - 1)\right] \|x_{n_j+l-1} - p_j\| \\ &\leq \exp\left\{(k_{n_j+l-1}^2 - 1)\right\} \|x_{n_j+l-1} - p_j\| \\ &\leq \exp\left\{\sum_{m=0}^{l-1} (k_{n_j+m}^2 - 1)\right\} \|x_{n_j} - p_j\| \\ &\leq \frac{M}{2^j}. \end{aligned} \tag{2.21}$$

It follows from (2.21) that

$$\begin{aligned} \|p_{j+1} - p_j\| &\leq \|p_{j+1} - x_{n_{j+1}}\| + \|x_{n_{j+1}} - p_j\| \\ &\leq \frac{1}{2^{j+1}} + \frac{M}{2^j} \\ &\leq \frac{2M+1}{2^{j+1}}. \end{aligned} \tag{2.22}$$

Hence  $\{p_j\}$  is a Cauchy sequence. Assume that  $p_j \rightarrow p$  as  $j \rightarrow \infty$ . Then  $p \in F(T)$  since  $F(T)$  is closed, which implies that  $x_j \rightarrow p$  as  $j \rightarrow \infty$ . This completes the proof.

**Remark 2.1.** We note that, if  $T:K \rightarrow K$  is completely continuous, then it must be

demicompact [8], and if  $T$  is continuous and demicompact, it must satisfy *condition* (A) [4,9]. In view of this observation, Theorem 2.2 improves the corresponding result of Liu [3] in the following aspects:

- (i)  $K$  may be not necessarily compact or bounded,
- (ii)  $T$  may be not uniformly Holder continuous.

**Remark 2.2.** Our results improve and generalize the corresponding results of [6,7,8,10,11,12] and many others from the existing literature.

**Remark 2.3.** Our results also extend the corresponding results of Cho et al. [1] to the case of more general class of  $\phi$ -continuous asymptotically quasi-nonexpansive mappings.

### REFERENCES

- [1] Y.J. Cho, G.T. Guo and H.Y. Zhou, Approximating fixed points of asymptotically quasi-nonexpansive mappings by the iterative sequences with errors, *Proceedings Dynamical Systems and Applications*, Antalya, Turkey, July 5-10, 2004, 262-272.
- [2] K. Goebel and W.A. Kirk, A fixed point theorem for asymptotically non-expansive mappings, *Proc. Amer. Math. Soc.* **35 No.1** (1972), 171-174.
- [3] Q.H. Liu, Iterative sequences for asymptotically quasi-nonexpansive mapping with an error member of uniformly convex Banach space, *J. Math. Anal. Appl.*, **266** (2002), 468-471
- [4] Z. Opial, Weak convergence of successive approximations for nonexpansive mapping, *Bull. Amer. Math. Soc.*, **73** (1967), 591-597.
- [5] X. Qin, Y. Su and M. Shang, Strong convergence for three classes of uniformly equicontinuous and asymptotically quasi-nonexpansive mapping, *J. Korean Math. Soc.*, **45** No.1 (2008), 29-40.
- [6] B.E. Rhoades, Fixed point iteration for certain nonlinear mappings, *J. Math. Anal. Appl.*, **183** (1994), 118-120.
- [7] J. Schu, Weak and strong convergence to fixed point of asymptotically nonexpansive mappings, *Bull. Austral. Math. Soc.*, **43** No.1 (1991), 153-159.
- [8] J. Schu, Iterative construction of fixed points of asymptotically nonexpansive mappings, *J. Math. Anal. Appl.* **158** (1991), 407-413.
- [9] H.F. Senter and W.G. Dotson, Approximating fixed points of nonexpansive mappings, *Proc. Amer. Math. Soc.*, **44** (1974), 375-380.
- [10] K.K. Tan and H.K. Xu, Approximating fixed points of nonexpansive mappings by the Ishikawa iteration process. *J. Math. Anal. Appl.*, **178** (1993), 301-308.
- [11] K.K. Tan and H.K. Xu, Fixed point iteration process for asymptotically nonexpansive mappings, *Proc. Amer. Math. Soc.*, **122** (1994), 733-739.
- [12] B.L. Xu and M.A. Noor, Fixed point iterations for asymptotically non-expansive mappings in Banach spaces, *J. Math. Anal. Appl.*, **267** (2002), No.2, 444-453.